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1. Assessing the damage caused by the storm was difficult because the storm had washed
away all the roads, making it nearly impossible to enter the area.
(1) Attesting (2) Exaggerating (3) Evaluating (4) Designing

2. Refrigerators, microwave ovens, and automatic dishwashers have emancipated modern

homemakers from much of the drudgery of meal preparation and cleanup.
(1) waned (2) liberated (3) bonded (4) slaked

3. Even if you have the gift of prophecy and can fathom all mysteries and all

knowledge, you are nothing, if you don’t have love and affection for others.
(1) sharpen (2) zoom in (3) understand (4) reverberate

4. Lowered blood pressure is among the salutary effects of exercise.

(1) curative (2) exemplary (3) fruitful (4) consequent

5. That 300-page book on the anatomy of the fly was so ponderous that I could not read
more than one page.

(1) dull (2) informative (3) repetitive (4) complicated

6. If you study the band’s first record, you can see their nascent abilities that were

brought to maturity on their second record.
(1) innovative (2) budding (3) foreboding (4) extraordinary
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7. From (1)the signing of American Independence to the Bicentennial celebration in

10.

11.

12.

1976, and (2)forward, American black men and women explored, invented, and

contributed (3)immense to the growth and development (4)of this great land of ours.

I say to you, hold your head (1)high, be proud and confident of your future, try to
attain higher educational goals, and (2)makes use of your opportunities (3)in behalf of

yourselves, your forefathers, and those (4)who will follow you.

But (1)after the Allies’ victory in the hard-fought war, (2)which cost Italy 600,000

dead, 400,000 lost, one million (3)wounded, when peace (4)is being discussed around

the table, only the crumbs of rich colonial booty were left for us to pick up.

The destruction of the environment has (1)affected people around the world in
different ways. In the (2)industrialized countries, (3)it has negatively affected the

quality of life and even (4)causing illness.

Laura’s dog gets such (1)a look of pathos (2)whenever he wants to go for a walk

that it’s hard (3)of Laura to (4)turn him down.

Zoos in the past often contributed to the (1)disappearance of animal populations.
Animals were cheap, and getting new ones (2)was easier than (3)provide the special

diet and shelter necessary to keep captive animals (4)alive.
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Albert Schweitzer was born in 1875 in Alsace. At that time, it was a part of
Germany. His generous spirit was first awakened through his training as a Lutheran
minister. Besides gaining a reputation as a preacher, he also became respected for his
ability to play the organ. He was a man of many talents. His concern for other people
turned his attention to medicine. He had also acquired doctoral degrees in philosophy
and music. His wife took an interest in medicine also and became a nurse. Many
people thought that he should remain and lecture in Europe to have a strong impact on
Western civilization. Though he listened to their suggestions, he ultimately decided to
follow his own (A) . This led him to Africa. Albert had felt that all men
should accept the responsibility of helping others. He felt particularly concerned for

black Africans who had been exploited by white men. He earned the money he needed
by performing on the organ and by lecturing. With this money he bought equipment
and opened a hospital in Africa. He was a man of great strength who faced great
problems with courage. The threat of war, the reality of imprisonment during World
War One as a German citizen, and the unbearable heat in Africa did not deter him at
all. He believed that man could overcome these (B) if he had a sense of
idealism. He died in 1965.

13. Which pair completes the blanks (A) and (B)?

(1) intuition — excuses (2) conscience — obstacles
(3) instinct — assumptions (4) reasoning — limitations

14. Which of the following is NOT true according to the passage?

(1) Schweitzer held a doctorate in music.

(2) Schweitzer’s wife was a fellow doctor.

(3) Schweitzer was a philosopher and an idealist.

(4) Schweitzer had particular care for black Africans.
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The green anole lizard is usually (1)sold in pet shops as a chameleon, by which
name it has been known to generations of American children. The true chameleon and
the green anole are actually different animals, but they do have much in common. They
are both lizards. Most live in trees or bushes, (2)subsisting mainly on insects. Both can
change color, although the anole’s ability to do so is considerably more limited than
the chameleon’s. This is the trait that has made chameleons and anoles popular as pets.
However, the anole’s color change, in contrast to the chameleon’s, is not, as many
people think, related to the color of the background. Instead, it is (3)determined by
such factors as light and temperature or by such emotions as fright, triumph, or defeat.
The chameleon is an animal of the Old World, whereas the anoles are found in the
warmer regions of North and South America. The chameleon (4)lies from two to forty
eggs at a time, the anole only a single egg. Recently biologists have become familiar
with the anole as an excellent animal for laboratory studies of the interaction between
behavior and hormones. The particular value of the green anoles as experimental
animals is that they are abundant and that under the appropriate conditions they will

establish in the laboratory the same social system and behavior they display in their

natural environment.

15. Which of the underlined words is NOT appropriate in the passage?

(1) sold (2) subsisting
(3) determined (4) lies

16. Which of the following is NOT true according to the passage?

(1) Anoles are often confused with chameleons by people.

(2) Anoles’ color is subject to change affected by their emotions.

(3) Chameleons are typically found in Europe.

(4) Chameleons are more suitable for laboratory experiments than anoles.

4 Dhy
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Ms. G, a twenty-three-year-old woman, complained of a phobia of spiders that she
had had for as long as she could remember. She had no history of any other
psychiatric symptoms. In treatment, when first approached with a closed glass jar
containing spiders, she breathed heavily and wept; her stress level rose. She suddenly
began scratching the back of her hand, stating she felt as though spiders were crawling

under her skin, although she knew . The sensation lasted only a few

seconds and did not recur. Her total treatment consisted of four one-hour sessions
distributed over the span of a month. At completion, she had lost all fear of spiders
and was abe to let them crawl freely about her arms, legs, and face, as well as inside
her clothing, with no distress. She remained free of fear at a one-year follow-up exam

and expressed disbelief that she had allowed such a “silly fear” to dominate her life so

long.

17. Which of the following is most appropriate for the blank?

(1) this was not really the case (2) that was just a nightmare
(3) it was a sign of her allergy (4) it was her fear to overcome

18. Which of the following is true about Ms. G according to the passage?

(1) Her phobia of spiders was one of her many psychiatric symptoms.
(2) She showed no reaction to spiders at the beginning of treatment.
(3) She underwent four one-hour treatments for a year.

(4) Her treatment helped her overcome her fear of spiders.



¥ T 25 83 B9 H3HA L. (19-20) [ZH434]

As a young man, the British soldier and writer T. E. Lawrence took part in an
archaeological expedition in the Middle East. The work fascinated him, as did the land,
and he became possessed by a dream: The Arabs would overthrow Turkish rule and
take control of their own country. Lawrence sought to make his dream become reality
during World War I when the British showed an interest in helping the Arabs revolt.
Seeing a chance for Arab independence, Lawrence arranged a meeting between British

and Arab leaders. British arms and aided by Lawrence’s military

strategy, the Arabs rose up and captured several major Turkish strongholds. By 1919,
the war was over, and the Turks had been defeated. Arab seclf-rule was about to

become reality. But when he was called to the Paris Peace Conference, he learned that

the British had no intention of giving up their control of the Middle East.

19. Which of the following is most appropriate for the blank?

(1) Secure from (2) Persuaded by
(3) Supplied with (4) Bargaining on

20. Which of the following would best describe Lawrence’s state of mind at the Paris
Peace Conference?

(1) shocked and disappointed

(2) encouraged and pleased

(3) surprised but triumphant
(4) confused but resigned
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The development of Jamestown in Virginia during the second half of the seventeenth
century was closely related to the making and use of bricks. There are several practical
reasons why bricks became important to the colony. Although the forests could initially
supply sufficient timber, the process of lumbering was extremely difficult, particularly
because of the lack of roads. Later when the timber on the peninsula had been

(A) , wood had to be brought from some distance. Building stone was also

(1)in short supply. However, as clay was plentiful, it was inevitable that the colonists
would turn (2)from brickmaking. In addition to practical reasons for using bricks as the
principal construction material, there was also an ideological reason. Brick represented
durability and permanence. The Virginia Company of London instructed the colonists to
build hospitals and new residences out of brick. In 1662, the Town Act of the Virginia
Assembly provided (3)for the construction of thirty-two brick buildings and prohibited
the use of wood as a construction material. Had this law ever been successfully

enforced, Jamestown would have been a model city. Instead, the residences failed to

comply fully (4)with the law; and by 1699 Jamestown had (B) into a pile

of rubble with only three or four habitable houses.

21. Which pair completes the blanks (A) and (B)?

(1) depleted — collapsed (2) demanded — built
(3) downgraded — emerged (4) blemished — merged

22. Which of the underlined words is NOT appropriate in the passage?

(1) in (2) from
(3) for (4) with
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When their children begin talking about dieting, most parents smile indulgently and
do not worry. In figure-conscious America, it is quite natural for young people to
desire a slim figure. However, for some teenagers, dieting is no laughing matter. For

them, dieting is not a momentary whim to be pursued and forgotten; (A) , it

is the symptom of a serious emotional disorder called anorexia nervosa, a disease that
can have terrible, even fatal consequences.

The disease usually strikes adolescent and preadolescent girls who have no reason to
diet. They are not preparing to take part in specialized sports activities requiring a
slender figure. These girls stop eating because, despite all evidence to the contrary, they
believe they are fat. Determined to lose the imaginary excess poundage, they refuse to
eat more than a few morsels of food. Usually, the weight loss is rapid, sometimes
more than fifty pounds in a few months.

Some teenagers who are obsessed with the need to diet seek treatment because they
or, more typically, their parents realize that the diet is leading to starvation. Others do
not seek treatment but simply begin eating normally again on their own. However,
because the disease comes in waves, or bouts, a few victims manage to keep it a
secret and so avoid both exposure and treatment.

Unfortunately, members of this group are in the most serious danger. Although they
may be able to keep their secret into adulthood, the disease, if untreated, almost always

goes out of control, with tragic results. (B) , some victims—like gymnast

Christy Henrich and pop singer Karen Carpenter—die from the physical effects of
prolonged starvation. Mortality rates are high: One in ten anorexia patients will die
within ten years of the disease’s onset. To date, the actual cause of the starvation

disease has not been determined.

23. Which pair completes the blanks (A) and (B)?

(1) instead — In fact (2) likewise — In truth
(3) surprisingly — In addition (4) nevertheless — For example

24. Which of the following is NOT true about anorexia according to the passage?

(1) It is a psychiatric problem resulting in food restriction.

(2) Many people with it see themselves as overweight, contrary to the fact.

(3) It is more common among teenagers although people of any age can develop it.
(4) Its exact causes are recently discovered but its mortality rates are still high.



